gt 121580 2N 35 - = k% B
]'E”i 12-1 1087 2 fx 4 B 8 & 4 3= 53 #Ru

o~ ﬁ'$ﬁﬁ%

F P RagTH

TRERF 2 BB
WitR OB T3

}'_r‘?lg
—‘)Z \/’:fp/'g\ Féfﬁb‘:’;— Fé"g\'g\%;ua 6 ];(Fl@“'pf Ej l—-—pé‘é b ‘&ﬂ\’é‘z‘i—\j ay ;'F]z > A A )J'Aq\
—)7}‘7}‘1‘9 %E} a1 E\‘&/ P ]"),@lﬁq*ﬂ\]}?]?.:j.lfgo

v
e
5
\1 %

=1
('S
S
-gn'\
=
\\3

)

3

\—

=y
™

T T
ot

—4
L
T

%

S‘:—g
7\
N
o
D
—

AL - Rl B R S B 2R RE B el * iE
wiTER ? (154 )

Ji

G- HFRLPHTARE T KL A E S RE(F RSB E)
Emfk Lbéza\aja 60% - 30% ~ 10% -
Bl % 10% 5% 1% Bkt - AELFT e
L s mE (FE%IHEIE >z¢;

40% ~ 40% ~ 20% * @ & FEF A oD BARp K £ A W) L 8%

4% ~ 1% - 3B

OF P HF s PokgHEMSF 2 (54)

OFFesPEABE T L ciBd
m‘ﬁ?}ﬂq‘? (10 %~ )

E®F ‘Bb PAARUFT oLy r»aLR? v 5 5P EhpwFARE
Sf pe? (10 4)

|k
&

L
W

=i



5 10%-° & &=

;.L,}#P SO%mé f.% LU S £
i mwap 4%, ufk‘é;’ BenF &S AL 8% B FATIR

};]9 3 zg‘ig;}';\"”'%m Pﬁpﬁ;ﬁm&r*r

=1
4

FHEPF (%)

u

12
10

B A R P LI

+ 25 %)

&) 15—‘3’ f#x&%

i G e

BT & (F2)
$10,000
8,000
3,000
6,000

i

AR

£ = A

B R RO P (K

FARLIB? CFTREDIS AR RLT
%%ﬁ%’i"% Mlc R i: 200 22 LT
#2588 (& 2hip i 2,000 ~ ) 0 FRE
ﬁ%%?(Sﬁ}

? (104 )

5L 1 21580
foox 2 2-2

145 4

o ¥ 5 230
AL



